RA\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, FL-16092.2

™
jla 112" MAX. O.A. FRAME WIDTH 2 L M3
%L N R BN
E’ gm aé ~ 2
50.5" MAX. D.L.O. WIDTH SEOE NS
= D T I
WINDOWS & DOORS 2
259 9.2
250 Staunton Turnpike, Parkersburg, WV 26104 2°28%8 \4
S8R a ,% E
3 0225303
: / 1 / $5%2pshu
/ / a =250 0
8400 Series /o 7 / S
; / / n g3 5
® ® ® [ L] hd ‘g E %
Vinyl Horizontal Sliding Window 5 | R S
R 3
n [ I &=
NON-IMPACT s -
= 9 >
< O 32
o % O &2
. s wy ~0c
GENERAL NOTES E: & # zE
& & 3 2O
This product has been evaluated and is in compliance with the 2010 2 % 5“3
Florida Building Code (FBC) structural requirements excluding the > a8
"High Velocity Humicane Zone" (HVHZ). // { // b/ 5 : §_§
/, /, /) 3 0 tm
Product anchors shall be as listed and spaced as shown on details. ,4/ ,// ,/// § g &
Anchor embedment to base material shall be beyond wall dressing ! oy &
or stucco. L
When used in areas requiring wind borne debris protection this
product is required fo be protected with an impact resistant covering XOX SHOWN N
that complies with Section 1609.1. ) L Ao N
at complies with Section 1609.1.2 of the FBC XXX ALSO APPROVED % i
For 2x stud framing construction, anchoring of these units shall be the Nl 1B
same as that shown for 2x buck masonry construction. ol 13
ol 12
3| @
Site conditions that deviate from the details of this drawing require g‘cf =
further engineering analysis by a licensed engineer or registered b
architect. 3
S
.
NE
TABLE OF CONTENTS SIS
SHEET# | DESCRIPTION S
1 Typical elevations, design pressures and general notes : i
2 Horizontal cross sections 110.0" X 62.0" 49.5" X 54.0" Gl +50.0 -50.0 DATE: 12/05/12
3 Vertical cross sections _ i : SCALE:  N.T.S.
LT T IR 112.0"X 630" | 50.5"X 55.0" G2 | +60.0 | -65.0 owe. B:  JK
5 Components L : ¥ d . .
6 Bill of materials & glazing details chk. By, LFS
DRAWING NO.:
FL—16092.2
SHEET _1 oF _6_

© 2012 R.W. BUILDING CONSULTANTS INC.



RAA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 2.2

D

S
'EOII \‘_\\
FAN

e
N
N

PSP

/ [ /
/// ,f//
/ /

/
VA #

1-1/4" MIN.

]

EMB. (TYP.)

kA

]

%
‘ R

/"1 "\ HORIZONTAL CROSS SECTION

W Shown w/ 2X buck

i :f«..;r-;%
EXTERIOR

/i\ HORIZONTAL CROSS SECTION

\2/

1-1/4" MIN,

EMB. (TYP.)

7”4\ HORIZONTAL CROSS SECTION

\y Shown wf 1X buck

1-1/4" MIN.
EMB. {TYP.)

At
ARG
o
b
54
i

CX d
-_:‘:.’45,«"3:

¥/l
i

7“3 "\ HORIZONTAL CROSS SECTION

\y Shown direct to masonry

813.659.9197
S 2z.02

Florida Board of Professional Engineers

Certificate Of Authorizatign No. 9813

=

Lyndon F. Schmidt, P.E. No. 43409

L7

P.O. Box 230 Valrico FL. 33585

Documents Prepared By:

BUILDING CONSULTANTS, INC.

FPhone No.:

8400 SERIES
HORIZONTAL

PART OR ASSEMBLY:
CROSS SECTIONS

PRODUCT:

FS
BY

REVISIONS

4/04/13 |UPDATE FRAME SIZE/DP/GLZ

1

1
<
[
3
=
2z

oate: 12 /05/1

SCAE:  N.T.S,

DWG. 8Y: JK

CHK. BY: LFS

DRAWING NO.:
FL—-16092.2

sHEET 2 oF B

© 2012 R.W. BUILDING CONSULTANTS INC .



TON| SLNYLINSNOO GNIaTHNg MY Z2L0Z2 @

6OFCH "ON "3'd "IPIUUSE ‘4 Uopui SNOISIAZY
SNOILID3S SS0HD F
{7224 2 A4 WALLMIA S8 219/d0/3Z1S_INvy4 31vadn| €1 ARedy [ON m il se | o 6_
£196 "ON RORDIZUOUIY 4O SIDOUILSD i 3 ) oM
£132ULIBUT |DUOISSSJ0. O PJOOE DPLLOH SAIENESSY HO Ldvd % ..Nl ~ . w &
£6LE'6SO'CLE "ON Buoud W - g - _,J_
€6SEE 14 O5LDA 0CZ Xo8 "O'd \Svg - &g
"ONI 'SINVLINSNOD ONiaTng S3i143S 0CvB EIIE W T
:Ag peJpdeld SIURLINDOG 110N300dd S|2|85|318 &
- ("dAL) "8W3
_ [dal) awa @ 3) NIW #/1-1
NIW /11 et
4 &) OO OOE
o
N - WAGIANS @ 2 & -
h i d = =< = e ] g
Toe Z ) = P2 e o
L = L ==
BEFRRE = _ K f— K =
o v : 7 i Ly ! " ' “ m
ST [t} . . Y @
v M \ b 5k b9 / ] N K] 0
oy x S E
’ = = k Iz (— S = w
) T A n...W... i v A ]
I S Y c . IR mn.v.m
. 0 / y m 2 e 0 i = m z
T v =] g i V mmnu e | i | I N v . v m
N 3 C_ ) G
s ﬂu 8 ﬂv
o 474
& <
_.E H L ~0 n —
- -] ~o
7 e
@
0 =3
Ofji 8T
m 2
v
(]
<0
— o~
—
(ALl ew3 _, -
(dAL} a3 @ NIW F/ 11
NIW F/1-1 @
_ OO OROICIOIOIO \
_ DOEE®®® ¢ , .,
{7 a.. = m '
I =
. \ = o]
e ¥ s T -
(@)
N ]
e LS
SCRE > k_ W , T m +
. e = — Cel . ol 2
.« w N i R v m
. < Y D / T M .q,. - L m ..W-
i A * —
.. Y ey T ¢ .v. m an
. ] S5
o
Q
i —|
; G,
© OO0 @O @

7€ BMPI-TZE00T-14\BPHS [BIU0ZUOH\GLIT d\0OLT - 1091 foid\siapiod wafoudispalold - vy



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 4.2

MEETING STILE
o
. (TYP) 4 ——
T R T (TYP.}“'i }
4-”-” ‘l e —— I —1 ¥ |
-‘..4.‘-__; LENR 1 La 1
v It I 1
I I s
fid I I e
POA I I (TYP.)
i ! I o
x I I
BUCK ™ I H
MASONRY “ ‘Fﬁ
OPENING 1 ]
T I ) N
et I I 3E
H I =
R H I &Y
AT 1 I
o Ty o 1 lly g
X | - R \l | | | | i 1 | |
BUCK ANCHORING
CONCRETE ANCHOR NOTES:

1. Substitution of equal concrete anchors from a different supplier may have
different edge distance aond center distance requirements.

2. Concrete anchor locations at the corners may be adjusted to maintain
the min. edge distance to mortar joints. If concrete anchor locations
noted as "MAX. ON CENTER" must be adjusted to maintain the min. edge
distance to mortar joints, addifional concrete anchors may be required to
ensure the "MAX. ON CENTER" dimensions are not exceeded.

3. Concrete anchor table:

mw /4 1-1/8"

ELCO 1/411 1-1 f4" 1" 4

—— - e 4"

—

3'0C

MEETING STILE

55"
T {TYPR.)

1
l (
E i
* i
A ! (TYP. @ HEAD) ¥
- (1 (F)2xsuck 1 _
@ 2XBUCK 1Y ixsuek 1 UK
1X BUCK DIRECT TO !
orectro | \K) Masonry 11 (1) 1xBuck
MASONRY || (TYP.@ ¥ DIRECTTO
(TYP. @ || HEAD} MASONRY ——
A JAMB) ¥
|1
i
- I _
[ L 1 I
4 e rmeveversre
‘-N.‘ o . . < ‘.-! 5
. et e B ..’ (TYP)
FRAME ANCHORING

o
it
O
=
w3
—
<
=
]
i
™

L— 7.5" (TYP.)

3
~
a £ o3
g T ¥
g8 203
A3
LN o
dbo LN 2
284 22N 4
5% s(A &
nsg sl
350 884 o
Zgw 5 E( 2
&’,\UN-:D-E\\E
x2 w3 2
v%ozo{ 2
P 2Dy oy W
22555°
§ 3%< 0,4 5
mﬂ]ﬂ-ﬂ,m-‘é °
g L <
8 D E 2
€ TP
[ o g
E Lo
-
1]
[+]
0
)
=
) &
= Y
[usd Z2x
I S I
o g 8%
S Z Sw
<~ n D=
g =
e L
5 14
S S
o
2 E
a o
il e
Sl

REVISIONS

4/04/13 |UPDATE FRAME SIZE/DP/GLZ

1

=
<
a
o
=
2

DATE: 12/05/1

SCALE:  N.T.S.

DwWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FtL.—16092.2

SHEET _4 oF 6

© 2012 R.W. BUILDING CONSULTANTE NG .



11T L

1.9

LJUIG
b 1 42" —]

( : ) SLIDER PULL STILE

T—'——- 1.9 g

D —= = 0.07"

L

- 1.42" i

KEEPER STILE

T

1.24"

M&%

A-i ’—-019"
0.0
-

. REINFORCEMENT
Common Rail

1.9" ———=

0.07" ——= U

( : ) LOCK STILE

1—-——— 0.45"
0.06"

( : ) GLAZING BEAD

(: :) REINFORCEMENT
Lock Stile

L‘— 1L.79 —"l

— 142" ]

%

0.07"

@ SLIDER COMMON RAIL

. REINFORCEMENT
Keeper and Pul Stile

248"

- 3.92

L T~

a0 105 20

L 2 i i i
oo I i
N it i M
o~ S | S ()
e T

\+ﬁlf [ 1l [

I 1 1 i

L | R JL.- 4

5] D [ iy

( : )FRAME

1.25"

__;iT r—au"

— g.08"
—= /= 0.24"

7

| | 0.07"

[+—@9—»

SILL TRACK
Fuit width

0.61"

gh fzﬁmmﬂ_

@ SLIDER SASH RETAINING CLiP

AF5% {Masonry Flange 1)

SL2z-rp

OPTIONAL COSMETIC FLANGES

] o ), 3"

Efffwar

(: :) HEAD TRACK
4" Long

0,07 ——ar e
X
- 116" -

- 1.2]" ]

—] 037

= 0.09"

}_ 0.09" ——l |4~

/

0.08"

0.67"

. FLANKER STOP

a B 2
i Em +
53 [1]
dgmw ET /]
=z o
= i e® .
P - I o
mhe-e " g F
280 2\( u
< = c ]
FEo a0
25w 83 .
g eavyy
. 0Ba® oL t
EAB TR B N c
© o, % G
E%éZO ]
5 5°2P5 Nu
D.—OOU c
ED..CO.., 5
n_mn.n.mas o
o U 3
r § 0% o]
€ TP
7] L0
P i
ot 1
&
V672 {Masonry Flange 2] sl
7 [%a]
L =
o i
O P
(%] = =
f) fowj S
=+ ]
0 n
<
= o
]
2 o
o &
& <
a o
i
>
5o
N
D
N
~ |
wl |z
N5
o
= al
el
i
! i
ol ]
™ a
s S
; ‘ )
L
=
—w{|=—0.08" NE
'd-
~lo
z
DATE: 12,/05/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—16082.2

sHEET 5 oF 6

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 167%\Horizontal Slider\FL-16092.1-.6.dwg, 5.2

© 2812 R.W. BuiLDING CONSULTANTS |NC.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1679\Horizontal Slider\FL-16092.1-.6.dwg, 6.2

BILL OF MATERIALS

TEM # | DESCRIPTION MATERIAL
A 1X BUCK §G >=0.42 WOQOD
B 2X BUCK §G >=0.42 wOoOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACH CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

r #10 X 3" PPH WOOD SCREW STEEL
G #10 X 1-3/4" PPH WOOD SCREW STEEL
H #10 X 2-1/2" PPH WOOD SCREW STEEL
J 1/4" X 2-1/4" TW CONCRETE SCREW STEEL
K 1/4" X 3-1/4" TW CONCRETE SCREW STEEL
L 1/4" X 3-3/4" ITW CONCRETE SCREW STEEL
1 FRAME* PVC
2 SLIDER PULL STILE* PVC
3 LOCK STILE* PVC
4 KEEPER STILE* PVC
5 GLAZING BEAD* PVC
6 SLIDER COMMON RAIL* PVC
7 BALL BEARING ROLLER -
8 WEATHERSTRIP {0.230") -
9 WEATHERSTRIP {0.380") -
11 SILL TRACK ALUM
12 HEAD TRACK ALUM
14 SLIDE RAIL REINFORCEMENT ALUM
15 REINFORCEMENT ALUM
16 REINFORCEMENT ALUM
17 SLIDER SASH RETAINING CLIP ALUM
18 #8 X 1" PFH SMS STEEL
19 FLANKER STOP NYLON
22 #8 X 5/8" [#6 head) PFH SMS STEEL

* THE APPROVED WHITE RIGID PYC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY

EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

116 X172
GLAZING TAPE
BY LAMATEK
1/2" GLASS
BITE = 1THICK GLASS

1/8" ANNEALED

{::] 1

T
D\

1/8° ANNEALED
INTERCEPT SPACER

s P

(:) GLAIING DETAIL

/16" X 1/2"

GLAZING TAPE

BY LAMATEK
1/2" GLASS

BITE ——— 1"THICK GLASS

1/8" TEMPERED

AIR SPACE

7N

|

1/8" TEMPERED
INTERCEPT SPACER

GLAZING DETAIL

-~
*
[V
10
8 ¢ w2
0 B <+
(] D L1
g w .55}:2
Z <)
.~ @
b5 .
- T [N o
wle- " g z
2 8a 2-\Jy
S€noc u
Jg0 8 o
oo | 3y 0+
p-"30® o
Zowm 5L 2
o™ Lo £
D ON - ke =
m )
(pxo"-:’ 2
v $5% 0% v
P EMo gu W
0 O .8 L0
a T g8 0
g 2~ 0g g
'lcnu.a.mas o
o 2 £
3] ol 3
c c ot
] Qo0
£ o
3
7]
0
[a]

99
< <
r & [
& A
Lot 3| <
w O =W
m =
e = ow G
T |8 oS
o
g 5o
(&)
3 o
&S E
& <
a8 1
D>
-}
™~
&)
N
~ |
ol I
N o
U’, A
wl 12
3 @
o
=
i
(]
6
>
2
=
RS
-
~lo
2z
pate: 12/05/12
SCALE: N.T.S.
DWE. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—16092.2

SHEET 6 oF B

© 2012 R.W, BULDING CONSULTANTS ING.



